8 KITACC. AIIEBPA.
LL.A. AJIMMOB

KBagpaTtnyHaa oyHKUUA

y=a(x—x0)2+y0
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y =35X

= — —(x+1)2 -3




y=a(x_xo)2+yo

BepwuHa napabonbl (X,; Y,)
Ocb cummeTpumn X =X,

Lla6noH y = ax?

a > 0, To BeTBM HanpaBrieHbl BBepX
a < 0, To BeTBM HanpaBneHbl BHU3




HanpaBn

BeTBe | BepuwuHa |Ock cum. |LLa6noH
y=x2+5 / (0;5) | x=0 | y=x’
y=(x-2’+5| /| (25) | x=2 | y=x
y =2x*-3 A (0;-3) | x=0 y = 2x2
y =—(x+3)*-2| (3;-2)| x=-3 | y=x2
y=2x-1)1| A | (551) | x=1 |y=22

y==3(x+2)*- 4 \ (-2;-4)| x=-2 |y=3x?
y==(x+3* | N | (30| x=3 | y=x

y = 2(x— 4)? /| 40 | x=4 | y=2x
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